10.

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

Name: Date:

Teacher: Class:

10 X Tables

What has many eyes but cannot see? A potato!

Calculate.
12 x 10 = 51. 10 x 10 = 6. 11 x10=
8 x10 = 5. 5x10 = 7 3x10=
4 x10 = 58. 2x10= 89 x10=
1x10= 5. 6 x10= % 5x10=
8 x10 = 5. 7 x10-= 80. 4 x10=
2x10 = 5. 12 x10= 8. 6 x10=
10 x 10 = 5. 5 x 10 = 8. 7 x10=
3x10 = 8. 5x10= 8. 11 x10=
1x10-= 9. 10 x10= 84. 2x10=
6 x 10 = 60. 7 x10= 8. 1x10=
7 x10 = 6. 9 x10= 86. 4 x10=
3x10 = 62. 12 x10= 87. 11 x10=
4 x10 = 63. 10 x 10 = 8. 5 x10=
7 %10 = 64. 9 x 10 = 8. 11 x10=
2x10 = 65 10 x 10 = 9. 1x10=
2x10 = 66. 8 x 10 = 9. 8 x10=
2x10 = 67. 6 x 10 = 2. 3x10=
7 %10 = 68. 1 x10= 98 2x10=
11 x 10 = 69. 11 x10= % 5x10=
11 x 10 = 0 6 x10= %. 9 x10=
8 x10 = L 8x10= %. 9 x10=
2x10 = 2. 7x10= 9. 4 x10 =
11 x 10 = 8. 3x10= 9. 12x10=
2x10 = 4.1 x10= 9. 5x10=
4 x10 = 5 8x10= 100. 11 x 10 =
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10.

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,

25.

6 x10 = 60
7 x10= 70
1x10= 10
5x10= 50
3x10= 30
11 x10 = 110
2x10= 20
9 x10= 90
12 x 10 = 120
3x10= 30
8 x10 = 80
1x10= 10
8 x10 = 80
2x10= 20
6 x10 = 60
6 x10 = 60
12 x 10 = 120
8 x10 = 80
4 x 10 = 40
12 x 10 = 120
3x10= 30
10 x 10 = 100
10 x 10 = 100
9 x10= 90
10 x 10 = 100

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

Answer Key Date:

Teacher: Class:

10 X Tables

What has many eyes but cannot see? A potato!

Calculate.
12 x10= 120 5 10x10= 100 7 11 x10= 110
8 x10 = 80 5. 5x10= 50 7. 3x10= 30
4 x10 = 40 58. 2x10= 20 8. 9 x10= 90
1x10= 10 . 6x10= 60 % 5x10= 50
8 x10 = 80 . 7x10=70 80. 4 x10= 40
2x10= 20 5. 12x10= 120 8 6x10= 60
10 x 10 = 100 °” 5x10= 50 82. 7x10= 70
3x10= 30 8. 5x10= 50 8. 11 x10= 110
1x10= 10 5. 10 x10= 100 & 2x10= 20
6 x10 = 60 6. 7x10= 70 8. 1x10= 10
7x10= 70 6. 9 x10= 90 86. 4 x10= 40
3x10= 30 62. 12 x10= 120 & 11 x10= 110
4 x10 = 40 63. 10 x10= 100 8 5x10= 50
7x10= 70 64. 9 x10= 90 89. 11 x10 = 110
2x10= 20 65 10 x10= 100 0 1x10= 10
2x10= 20 66. 8 x 10 = 80 9. 8 x 10 = 80
2x10= 20 6. 6 x 10 = 60 92. 3x10= 30
7x10= 70 68. 1 x10= 10 98 2x10= 20
11 x 10 = 110 ® 11 x10= 110 ° 5x10= 50
11 x 10 = 110 > 6 x 10 = 60 %. 9 x10= 90
8 x10 = 80 L. 8x10= 80 %. 9 x10= 90
2x10= 20 2. 7x10= 70 9. 4 x10= 40
11 x10= 110 * 3 x10= 30 9. 12 x10= 120
2x10= 20 4 1x10= 10 9. 5x10= 50
4 x10 = 40 5 8x10= 80 100. 11 x 10 = 110
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